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WARM - UP

Determine the domain and range of the graph of each function.
a) V

a0

5.5 Graphs of Relations and Functions
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In the workplace, a person’s gross pay, P dollars, often depends on the number
of hours worked, h.

So, we say P is the dépendent variable. Since the number of hours worked, b,
does not depend on the gross pay, P, we say that h is the Adependent variable.

Hours Worked, h Gross Pay, P

- d dent
($) variable

Y ha (y)

independent
variable

2

3 36

4 43

5 60

/ \

The values of the independent The values of the dependent
variable are listed in the first variable are listed in the second
column of a table of values. column of a table of values.
These elements belong to These elements belong to
the 7 the 7

5.2 Properties of Functions
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Using Function Notation:

When a function is represented algebraically, we are given the
rule as it applies to some variable. This is called functional
notation. To compute the rule applied to any input we simply
replace the variable with the input.

A RRCE VA
D) (5)* =25
(‘ 1\~= f(=1) = (1)’ =1
B fla+b) = (a+b)*=a"+2ab+b"
f2y) = (2y)? = 49?

This does NOT mean
fmultiplied by x
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Function Notation

To represent functions, we use symbols like f(x) and g(x).

The symbol f(x) is read "f of x" and simply means that the
expression that follows involves x.

Basically, f(x) represents where y is a function of the x variable.
Thus, the notation is convient for making direct substitutions for
the x variable.

For example, if f(x) = 3x -5, then f(7)=3(7)-5=16

May also be represented as a mapping with the notation f : x.

EXAMPLES... ~
h(\o) = Sw_w -6

#1.If f(x)=3x*—x—6, find...

DIE) @ F) U ()L
b) f(-4) =325)-5-(

(_
) &N

OF )35y,
:3(/6)-[-‘7‘ ~( <‘<7L>'3~

12&/-@
F(%:g(%>i(§> L /&1
HORN
= 7%y
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Instructions:  Evaluate each of the without the use of a calculator.  Sketches must be included.

1.  
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AP CALCULUS 120

WARM-UP: LIMITS										OCT. 2009



1.  Use the graph of f(x) shown to evaluate the following:						[4]

[image: ]







































2.  Evaluate each of the following limits.  If a limit does not exist provide a reason.		[16]





(a) 						(b) 











































(c) 					(d) 
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Factoring Review

Name

Math 10 (Numbers, Functions and Relations 10)

Factor the common factor out of each expression.

1) 20/° +47° — 40
3) 12n° — 48n° +42n

Factor each completely.

5) x° +x—56
Ty 4k — 24k — 28
9) b°—T7b—8

11) 30" — 24n— 72

13) 16n° — 164n + 288
15) 4x° + 6x
17) 4% + 79 =2

19) 6v° — 14y

2) —5x° —5x° - 5x

4) —56a’ +48a° + 164°

6) 6n° — 6n— 120
8) x° —3x—18
10) a® + 13a+ 30

12) 5x* —21x - 54

14) 54x° - 90x
16) 6n° —5n+ 1

18) 4n’ —4n-35

Answers to Math 10 (Numbers, Functions and Relations 10)

1) 4(5+° +»* = 10)
5) (x+8)(x-7)

9) (b-8)(b+1)
13) 4(n - 8)(4n-9)
17) (r+2)4r—1)

2) =Sx(x®+x+1)
6) 6(n—35)(n+4)
10) (a+3)(a+10)
14) 18x(3x - 5)
18) (2n+35)(2n—-7)

3) 6nl(2n* —8n+7)
7 4lk+1)k-7)
11) 6(5n+6)(n-2)
15) 2x(2x +3)

19) 2v(3v-7)

4) 8a’(-7a* + 6a° +2)
8) (x—6)x+3)

12) (5x+9)(x—6)

16) (3n-1)2n-1)
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[image: image1.jpg]2.11 Exercise p’ad.v,w;? Reviews

B You must be able to recognize whic skills must be used
polynomial. When you factor the following polynomials,

to factor a
always check for

st. There are at least two expressions that cannot be
factored. Can you find others?

a common factor fir

15 © 3@+ 6a 2x — 8xy 3. 364 —4a>

4 254 —9y* X+ Tx + 12 6. 3a2—3b
7.y —1ly+28 8 16x'—8x+1 9.  a*—ab— 56b°
10. 4 —11x+6 1. —1409k 120 1+18y+ 3297
13, 2y>—38y°® 14 x*+6x+38 15, 56x2+9x—2
6. —16—9x* 17, 16 —28x + 10 18 ~m*—16
19,  8—1dy+5)° 20, —(1-da9 21 m*—5m:—36
22. . 6a*+5a+1 23, x*—y* 24, p*—2pq—634°
25. m*+3m*—4 26. x*—xy 27. x*+3xy—x
28, a?— 144 2. 3a>—36a+36 30, (a+bP—c?
31. —q? —2ab —b* 32 x34+5x2—6 33. x* + 18x% + 32
34 mt-9mP-112 35 x5—1 .36 2yr—2y—24
37 2x*—38 38 42 +8y—60 39, m*—16

x3 — xy* 4. x*—5x*+4
4.  x*yPz—2xy*
46. @+ bR —(a—by
25(2x + 1)* — (9% — 1)
25(x + 29)* — 9(x — 2))*

40. 2x% — 16x + 32 41.
43, —48 —3y* )
45 -y -+
47 - (a— By — 16(a + 2b)* 4.
49, A(x—y)F—16(c+y* 50.

T.Ton

(48 + x)(« K
= (fsﬂ; ;L)(f :S)xs)v—L ’s(v O+ )@ : ;3;); 'g:
2 = "Ly (92 + 2)(q + vg)p -
oy~ 5y (z — 24x) fx pp | i 4
IRYRp: i i o b A 4
. z(v(g— r)Ag) ;gv (zK b W)z + W)y + ) "sg
- (e- + Op 8¢ (z - S
€+ 0% ~ Oz 9g (1 — X()(I + (1 + ;i((i : ,r)rg ég
Or+ zr()a(z + &) e pamxoe;va; leu)g;zl:)(% :f 5)“—) _‘:c
- sz?f)rf; 'J;z q(t+ v){'ue (Z)[ E vza = P)E ‘6§
(T — w)(1 + w)(p + zu:) §z+(bx 1
¥ L + d)(b6 — d) +
=2)(I + 2 i
(G 2{(‘5 — 1) 61 (z — w)(z + ”I)Zi(’[: i; "gtz
i = ;)(rs — $)2 LI po10to%y 3q 100TE0 91
(—Ifrs) SE (7 + 20 + ) b1 (€5 — DAT 1
9I(+ DEZ+ 1) 21 (T + ¥6)-(1 — 36) I1
- (€ = 2)(€ — =) 01 (91 + 2)(gg — 1) 5
z V)8~ O -9 L (q+0)q—1)cg

(@ - 26)(70)(v2) "¢ (%

G+x)g+x) s (A5

70|

-+ zv;)(‘z.&'g'“s?‘,gj b

- DX2Z (z + v)og 1

1 93ed ‘aspaxg 1177






SMART Notebook


	Page 1: Example 2
	Page 2: Key Concepts p.3 
	Page 3: Oct 30-11:28 PM
	Page 4: Feb 7-7:24 PM
	Page 5: Oct 27-10:11 AM
	Attachments Page 1

